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UNIT 5o A : Sirms s UNIT
Meagu eme eome @ Mr B B Wolf, who still maintains his
I\Iu:mber & Algebra‘ St&tlSthS & Probablllty rem nt & G m try : innocence in the incident at Lily Hood's zo
ACMNA129 ACMSP 144 ACMMG137 & ,
¢ : grandmother’s cottage, travelled to and
Multiplying decimals by Descrlbmg probabilities Comparlngleng'thsand areas from the courthouse thirty-nine times while
........................................ he was o0 tial: THe joiimeyiwos 26:047 km.
WhO].enmnbers This table shows different Perimeter is the distance around the outside one way. J .
. ilities wh g " . : .
Use a calculator to work out these equations. E;%b:hbr'::f;i:; :peotzsset‘;v.o oig t‘_NO dimensiondl. shape i, How much travel was th.at in total?
Area is the amount of space inside a
: ; Answer to the nearest kilometre.
A B C D E Some figures have been left two-dimensional shape.
fileite a0s lionoy | oa ks ?ﬁt‘s‘f,vé’éi‘s°#ﬁnﬁ'éir‘lﬂsvlve7§f°' eia l k i
e =19, rite the missing values in the spaces below (3) The three Piggy brothers, who were
2| 0.52 |0.0046| 82 406 16 Note: H = Head and T = Tail. : the table. Make sure you include the correct witnesses against Mr B B Wolf, said that
3 48 2.9 71.3 0.707 13.31 Tﬂrget means ‘the desired result’. units in your answers. , : ; once he scared them so much that they each
18.052 | 0.84 43 0.8 64 Chance of getting the Target ,:"fl:' nght; Wldth PEfimEféf  Area W 02, etes which is'a long way for o
4 2e 0 g e iy - pig to run, to escape.
5| 38 1-0:202-|: 0.9 | 28.8 | 0.68 8 cm 6 cm 24 cm O How far did the three brothers run
6| 124 |37.82 | 208 | 00925 | 55 @ 12 m 32 m 48 m2 altogether? Answer to the nearest metre.
2
The grid locations in the following equations 2 HoT 0.5 @ 6 mm ® 30 mm | 54 mm .
refer to the numbers in the grid. coins @ 6 cm 36 cm 72 cm? @ V\LesletheGi?l uppfear,ad I|3n Bccwr’{fa;a t
character witness for Mr olf. He wen
% (3B) x (4A) co?ns T |® i ebile 3 km 18 km ® 51 km? to court seventeen times because he kept
First do (2E) + (5B) and then x (IB) gL 7 getting the date wrong. The court was
m 32m
co?ns at IleTGSt 0.75 % @ : ® 15.037 kilometres from Wesley's home.
G Firstido (68) % (D) and th o . 7 ©) 14 km 48 km 140 km? To the nearest kilometre, how much did
First do (6B) + (4D) and then x (2() | T 0375 e, [ i & i 38 i Wesley travel during those seventeen times?
@ First do (4C) x (2A) and then x (5A) L HaT| 03 |® | =D el © e .
: i | 5 km 18 km 20 km? The following questions are about a game of
e Ll T @ o 12.5% | fer o e D) coin toss, using four coins.
(5E) = (6E) N | - 7 ® s (8 If the chance of getting four heads in the
® (6B) x (4D) : | coins Ll 0375 { Lo [ Iy game is one out of sixteen, what is the
(@ First do (3E) + (1B) and then x (4C) N ® 1 l ® @ chance of getting four tails?
: coins I H 8 -
- oo ©)
First do (3D) + (2C) and then x (1A) 3 |atleast) 1 l (® The coins were tossed seventy-two times
coins| 2T o 2 [ @ @ g
: ‘ and the combination of three heads and one
_ . T HH 0.375 . ® @ tail came up eight times. That was exactly
(@ First do (6A) + (2A) and then x (4B) coins | | ® @ the probability for the number of times this
2 lutu @ 3 | combination would come up. What is that
(30 (5 ) coins | '’ ; 8 ' ® ®@ probability as a fraction?
@ First dO (5E) and then x (38) co?ns H H R ’ ;1  @ 12.5% 1 ScoZeZpoints for I g
. | R e (@) The coins were then tossed |44 times. If
L 0.875 [ 5 the probability of two heads and two jcails
12 (3D) x , : ] Problem SO].Vlng : coming up was a quarter, how many times
@ (3D) 3 |atleast | dE @ ACMNA 129, ACMSP144  : would this combination have come up,
coins| 2H 2 : ; o
Fitek do + (1E) and then x (6A) ‘ Use a calculator to work out the answers. according to probability?
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Score 2 points for =]
each correct answer! &
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Score 2 points for =]
each correct answer! &
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@ Lilly Hood walked 437.25 metres to her
grandmother’s cottage seventeen times.
Then the incident with the wolf put an end
to her grandmother and the walking.

How much walking was that, to the nearest
kilometre? Don't forget she also walked home.
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Since there is only one combination of
coins that does not include at least one
head (that is, four tails) and there are
sixteen possible combinations, what is the
chance of at least one head coming up, as a
fraction?




